King Fahd University of Petroleum and Minerals
Department of Mathematics and Statistics

MATH 102 - Exam II - Term 151

Duration: 90 minutes
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Name: ID Number:

Section Number: Serial Number:

Class Time: Instructor’s Name:
Instructions:

1. Calculators and Mobiles are not allowed.
2. Write legibly.
3. Show all your work. No points for answers without justification.

4. Make sure that you have 7 pages of problems (Total of 7 Problems)

Question | Points | Maximum
Number Points
1 16
2 22
3 10
4 10
5 10
6 12
7 20
Total 100
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1. Evaluate the following integrals:
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2. (a)[8 points| Find a real number a such that coth a = 3
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3. [10 points] Evaluate [ 4 sin* ¢ dt.
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. z? + 4z + 1
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U3de. rpa(h“oJ e e demm/() S

Z)('}—a-llx-(-'l . A . Bx+C |
(x=1) (x%43) 2| X%+ 3 =

=2 mq+qx+4 = A (X+3) +Bx+) x-)

\)
‘ 3 e
xm = 6’—'[1“ = 'A"’i \>
2 \ N\
T _ = B=-3 ~
@i & S S5C=24 m»¢e-7 W
. =3A-C = = o
- Cunf‘"’)"" P 4=3
x4 F
x| dx = h =5 TR dx
= 2
E
’5/L "y'zx . /e dx_
2
:S > Xy X3

(‘L ) }. ._l_
( -%,n’y_i‘ "_l]{“h X+3 -""1 J_-_v;

o | -



5/7 Math102.151, Exam II

i (z +1)? tan~!(3z) + 923 +
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er

dz. ( Hint: Let u = e*®).

6. [12 points] Evaluate / =
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7. Evaluate the improper integral or show that it diverges:
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